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EXPLANATION 

1. Ans: C 

 

2. Ans: B 

 

3. Ans: A 

 

4. Ans: C 

 

5. Ans: C 

 

6. Ans: D 

Explanation: STT is applicable on shares, scrips, stocks, bonds, debentures, debenture 

stock or other marketable securities of any incorporated company or other body 

corporate. 

 

7. Ans: A 

 

8. Ans: C 

Explanation: An increase in CAD as a ratio to GDP worsens the BoP by drawing down 

on forex reserves or building the potential to worsen it by increasing the external debt 

burden. 

 

9. Ans: D 

 

10. Ans: C 
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